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91.

Y

English Language

Choose the correct meaning of the
following. Idiom from the choice given,
To be in a fix

(A) To be in perplexity

(B) Making rounds of something

(C) To attain permanence

(D) to feel giddy

Directions-(Q. 92-94) : Fil] in the correct

verb to make the sentences g complete
meaningful.

92.

93.-

The match will start when the refree ...

(A) will come (B) comes

(C) come (D) came

He jumped off the bus while it ...__ - -
-~ (A) is moving (B) moved

94.

(C) had moved (D) was moviné 1
It since early morning,
(A) rained (B)is rammg

(C) has been raining
(D) will have been raining .
Directions-(Q. 95-97) : Find out the part

which has an error in the following sentences.
If there is no error, your answer is(4)

95.

96.

97.

98.

99.

100,

101,

S ———

None of'the two brothers(l)/came to see
(2)/my father. (3)/N o error(4)

A1 me o BY2

©3 D)4 .

Bread and’ butter (D/is ('7)/ wholesome
food.(3)/Nd error(4)

Al 7(B)2

)3, (D)4

I shall wrilte‘(.l)/to you (2)/when 1 shall a

reach Mumbéi. (3)/No error (4)

A1 % 2. (B)2

©3 - ., (D4
Choose the, antonym from thc suggested
alternatives.” '
Grave ¢ :

(A) Trifle: -2 (B) Important
©) Serivousus (D) Light-

Fill in the bﬁayk with suitable artlcle

Kalidas is ......... Shakespeare of India.
(A)an (B)a _
(C) the 4 (D) None of these

Choose the synonym for the word from

the suggested alternatives.
Fiction o
(A) Imagined’ (B) Realistic
(C) Artificial 5% (D) False

N EES
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109. (A)
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